JET

#141017 (PUC-4525) Flat Top Resin Utility Cart

IMPORTANT SAFETY INSTRUCTIONS

* Review all instructions before assembling the cart.

* Improper assembly can cause personal injury and/or property damage.

» Do not overload cart. See specifications for load capacity (distributed evenly).
* Do not step into or on the cart, or use it as a toy.

A\ WARNING: This product can expose you to chemicals including lead which is known to the State of California to cause cancer
and birth defects or other reproductive harm. For more information go to http://www.p65warnings.ca. gov.

Specifications

Stock number 141017

Model number PUC-4525

Load capacity 500 Ibs. (225 kg)

Upper platform size (L x W) 45 x 25in. (111 x 64 cm)
Upper platform height 29-3/4 in. (75.5 cm)

from floor

Caster size (OD x W) 5x1in. (127 x 25.4 mm)

Overall dimensions (LxWxH) |45 x 25 x 32-3/4 in. (111x64x83 cm)
Net weight 46 Ibs. (21 kg)

Shipping weight 48 Ibs. (21.8 kg)
Assembly

Tools required: cross-point screwdriver, and rubber or wood mallet.

Use the mallet to tap down the parts to ensure they are seated properly
before fastening them with screws. Use drawing at right for assembly
reference.

1. Turn upper platform (#1) upside down, and install legs (two left and
two right, #5 and #6)

2. Install lower platform (#2) and casters (#10,#11). Tighten all hex
nuts.

Parts Breakdown

Index | Part no. Description Qty.
no.
1 PUC4525-1 Upper Platform 45x25in 1 To ord " h e depart t call 1
> PUC4525-2 L Platf 1 o order parts or reach our service department, call 1-
= Pﬂg 4222 = Cower - at dorsm e 7 800-274-6848 Monday through Friday, 8:00 a.m. to
- ross Head Screw Mox 5:00 p.m. CST. Having the Model Number and Serial
4 PUC4525-4 Leg Screw 6x18mm 4 Number of your unit available when you call will allow
5 PUC4525-5 Left Leg 2 us to serve you quickly and accurately.
6 | PUC4525-6 Right Leg 2 .
- Non-proprietary parts, such as fasteners, can be found
! PUC4325-9 Carriage Bolt M8x45 16 at local hardware stores, or may be ordered from JET.
8 PUC4525-8 Leg Square Nut 6x12mm 4 Some parts are shown for reference only, and may not
9 TS-1541031 Lock Nut M8 16 be available individually.
10 PUC4325-SCA | Swivel Caster Assembly 5in. 4
11 PUC4325-FCA | Fixed Caster Assembly 5in. 4
JET
427 New Sanford Road
LaVergne, Tennessee 37086 Part No. M-141017
Ph.: 800-274-6848 Edition 1 01/2020

www.jettools.com Copyright © 2020 JET, a Division of JPW Industries, Inc.



